SYBA Economics- 111
Sample Questions Paper

Q1. Which type of land tenure system were prevalent in the country at the time of independence?

AT AT degl HRATHEY R0l YR STl T deurdr 3ifedeard grdi?
Zamindari / SITAIERY

Mahalwari / HgTeIaRY

Ryotwari / IIddarY

All of these / alTel T@d

o o w »

A. Green revolution / gRd sifa

B. Money lenders charge exorbitant rate of interest / HTdhR 98 eIl &L 3R aid

C. Low productivity / HT 3cdrcehdr
D. None of these / ITdehT =T8T

Q3. The Share of agriculture in National Income of India is ----------
HRATEAT ASET Scloellc] HEY HNT QAT dTeT Feld ---------- 3T,

A. Increasing / dTedr

B. decreasing / T gl SITOTRT
C. Constant / &2

D. None of these / ITdehr =T8T

Q4. The unorganized money market in India consists of:

HRAT A0 STSTRIAEY Yérel hIoTeAT NS FATAR Flcr?
A. Money lenders, chit funds and indigenous bankers / ATgR, e wsq o Tagga

v

§ehl
B. Cooperative Banks and Regional Rural Banks / TghRI sl 3TTOT WGfAeh IATHIOT

v

§ehl
C. Nationalized banks and private banks / IS Tehel sehT TTOT WTSTaM SehT




D. All commercial banks / §9 SITIRT SehT

Q5. In which year did the Narasimham Committee submit its report on banking sector reforms?

FAwgr fAdS Horcar auf dfher &7 g 3fgara el FHelr?
1995/ 2’y

1998 / 2R¢
1996 / 2RR¢,
1999 / 2R

o o w »

Q6. Treasury bills are issued at a minimum amount of:

SoRT o= fashr freAr fordt T9am & el ST,
A. Rs.25000 and in multiples of Rs.25000 / & @coo 3IUT ¥ *Wooo TAT I[N

HeATAR el ST
B. Rs.25000 only / hefd & G000,
C. Rs. One lakh and in multiples of Rs. One lakh / %. Teh of&T 30T ¥. Th o1&

I0Teh HeATTaN.
D. Rs.10,000 and in multiples of Rs.10,000 / ¥.20,000 3701 ¥.20.000 TIAT IUTIh
HeATTAR

N Pl

Q7. In India service tax was introduced in------------
HRCATT GaT & el o] Ao

A. 1991-1992/ 2R%¢-R
B. 1994-1995 / 2R¥-RY
C. 1999-2000 /2]8%-3000
D. 2005-2006 / R00Y-0¢,

Q8. After leaving of a tax, if the price does not rise at, all it, means that ----------
Y HigeT feeameay, s fhAd areelt & arer 37 3m@r oo

A. Incidence of the tax remains with producer / X 3THUITT GcaAT HITH 3Tg.
B. Tax has been shifted backward / X #TY TATATTRA glar



C. Shifting has taken place / ¥ TATATART &Idr
D. None of the above / a{IeTdehT HIUTAET Ter

Q9. Which was the period of plan holiday?
TrSTetell G IT FITTENATS! gleh.

A. 1966-67 to 1968-69 / $EEE-El T 2REC-ER
B. 1967-68 to 1969-70 / 8REW-E¢ o §RER-bo
C. 1968-69 to 1970-71 / 8R&C-ER o §Rlo-?
D. 1969-70 to 1971-72 / 8R€R-bbo o ¢RLL-1R

Q10. ASEAN stands for ----------

ASEAN FgUTS ---m--mm-

A. Association of South East Asian North / Association of South East Asian North

B. Association of South East Asian Nations / Association of South East Asian Nations
C. Asian South East Association Nations / Asian South East Association Nations

D. Asian South East Association North / Asian South East Association North



